001 2x, —7y, —5
003 2
005 62+ (3y+1)x—y'—9y+1
007 2°+x+7
009 —22"—8xy+y’+4
011 3x+33
013 —2°—x+8
015 —4£°—3x+6
017
019 a*
021
023 -
a
025 2ab'c
027 62°—8x
029 —&’b+3ab’
031 2xy—3x+10y—15
033 2z'—52°—22"+ 152 —12
035 —3
037 '+ 102+ 352"+ 502+ 24
039 £*+8x+16
041 &’—4b
043 282°—xz—15
045 &'+ 40+ +4ab—4bc—2ca
047 £°—32°+3xz—1
049 d"—1
0516
053 —2
055 7
057 4
059 14

061 11

2
ac
b

063 3a'— a5

v ¥
W
== 007 ~022%
002 —5
004 —7

006 —"'—9y+1+(3y+1)xz+62"
008 —4x*+3x—1

010 —4x"—2xy—y°+4

012 62°+3z+9

014 —22°+22°+7x+6

016 &

018 «*

020 &'

022 2y

024 94°0°

026 3x+3y

028 —2xy—2y°

030 3z°+5x—2

032 22’ +xy—x—3y"+y
034 10

036 z'+62°+132°+12x+3
038 z'+22°—132°—14x+24
040 92°—12xy+4y°

042 x°—2x—48

044 &+ +c*+2ab—2bc—2ca
046 2°+62°+122+8

048 z’+32"—18x—40

050 £*—¢*

052 14

054 7

056 +/5

0581

060 52

062 3’5

064 +3, +4x, x—1, 22+3

065 Q=x"+2, R=3, z'+32°+5=(2"+1)(*+2)+3

066 Q=x+3, R=5x—09,

2’ —3r'—5x+15=(2"—6x+8) (x+3)+5x—9

067 3 : 2’ +x+3, LHX| : 14

068 % :2x—2, LYMHX| 1 z+1

06988, 4,4 3 4 4, 3 32 +4x+4, 3

s E

070 2 : 2°+32+6, LIOX] : 10
072 % :3x+8, LIMX|: 17
074 2*—3xy—4y°—4

076 —2x°—3xy—2y°

078 0

080 @

082 —15

084 —9

071 5 : 2°+3, LiHX|: —2

073 & :22°—2x+1, LIHX| 1 —2
075 @

077 ®

079 0

0811

083 ©®

085

086 @

088 @

090 @

092 2

094 &’ +0°+c*+2ab+2bc+2ca
096 @

098 30

100 ©

102 16

104 ®

106 @

108 123

110 ©

112 -1

114 57

116 @

118 ®

120 ®

122 ®

124 @

126 % x*+2, LX| 14
128 '—2xy—2y°
130 @

132 @

134 ®

136 ©

138 ®

@ SEAIT LDX| 2

001 c, o

0032 5

005 a=—1, b=3

007 a=2,b=—1,¢c=—6
009 a=1 b=1 c=—1
011 a=5,b=—1,c=2
013 ¢=3, b=6, c=2
015 z+1,6

017 4

019 a=—7, b=6
0213

023 6

025 —6

027 21

029 6

0313

0330

LE

@ 2
087 @
089 —12
091 ®
093 63
095 2
097 6
099 ®
101 @
103 —44
105 ®
107 @
109 ®
M@
113®
1151
117 @
119 19
121Q
123 @
125 @
127 ©
129 ®
1310
133 @
135 ®
137 —7
139 152

e
=5 025~038%
002 1, L, =
0042 3,7

006 a=1,b=—6,¢c=16
008 a=1, b=2, c=1
010 a=5, b=—2

012 a=1,b=3, c=4
014 a=1b=2c=—1
016 2x—17, 69

018 2

020 a=—5, b="7

022 -3

024 21

026 —27

028 3

030 7

032 -3

034 5

w2 Het 2ol 231

|
;



0353

037 a=2, b=—1
039 —14
040 @
042 @
044 @
046 ©
048 20
050 ®
052 ©
054 ®
056 @
058 @
060 @
062 @
064 @
066 z+5
068 ©
070 ®
072 ®
074 @
076 @
078 5
080 ©
082 ®
084 @
086 ©
088 ®
090 ©
092 ®
094 2 —z+2
096 @
098 @

001 a(x+ty)

003 zy(x—y)

005 (a+1)(a—b)
007 (z—2)*

009 (a+b)(a—b)

011 (2x+5y) (2x—5y)
013 (a+b+c)(a+b—c)
015 (z—3)(x+1)
017 (x+1)(x—6)
019 (2a+1)(a+3)
021 (2x—1)(3z+1)
023 (z+1)(2"—x+1)
025 (a+2)(a"—2a+4)
027 (z+y+z)*

029 (x—2y+32)*

232 oM Hi Math £:3H(Ah)

7
036
038 9

041 11

043 ®

045 —14
047 @

049 14

051 a=1, b=4
053 512
055 ®

057 ®

059 —2
061 —13
063 @

065 ®

067 2x*+2x
069 @

071 ©

073 ®

075 ®

077 ©

079 ©

081 ®

083 ®

085 ©

087 ©

089 @

091 a=0, b=2, LIMX| : x+2
093 @

095 ®

097 ®

099 —6

v
11"
=2 041~054%

002 m(2m+3)

004 (a—b)(x+1)

006 (a+1)°

008 (2z+1)*

010 (a+3b)(a—3b)

012 (a—b+c—d)(a—b—c+d)
014 (z+1)(x+3)

016 (z—4)(x+3)

018 (z—3)(x—7)

020 (2x—3)(x—4)

022 (z+1)(2x—3)

024 (z—1)(2’+x+1)

026 (z—2)(x*+2x+4)

028 (zx+y—=z)*

030 (£’ +ay+y") (2" —xy+7°)

031 (" +z+1) (£ —x+1)
033 (a+b+1)(a+b—3)
035 (z+y+2)(x+y—6)
037 (z+1)(z—1)(z*~2)
039 (z+2)(x—2)(x+3)(x—3)
041 (Z*+zx+3)(*—2+3)
0430, z—1, 2+x—2
045 (z+1)(x—2)(2—3)
047 (z+1)*(z—2)

049 (z+1)(x+2)(3z—2)
051 (z+2) (z+1)(z—1)*
052 @

054 4a+4b+2

056 ©®

058 @

060 @

062 ©

064 @

066 @

068 ®

070 @

072 ®

074 8

076 ®

078 271

080 @

082 ®

084 @

086 @

088 @

090 ®

092 =z

094 @

096 ®

098 @

100 @

102 ©®

104 ®

106 @

108 b=c?! O|StHAZFA
110 %

=

001 /5¢

003 —3/3¢

005 z=—1 L= z=1
007 x=—i £ z=i
009 x=—4i = =4
011 —5 E=5

013 —2/2; E==2/2;

032 (z+4)(x—3)

034 (z—1)(x+2) (2’ +2—4)
036 (z+1)(x—1)(z*—3)
038 (2°+3)(2’—2)

040 (2" +2—1)(z*—x—1)
01.2( ‘2x+2) (2 —22+2)
4L (x—1)(x+2)(x—4)

046 (z+1)(2"—2+3)
048 (z+1)(2"—62+6)
050 (z—1)(x+1)(2*—3z+1)

053 ©

055 6

057 ®

059 ®

061 ®

063 ®

065 —4

067 ®

069 0

071 10

073 ®

075 3(z—y)(y—2)(z—x)
077 ®

079 ®

081 ®

083 ©

085 (a+b)(a—b)(a—c)
087 ®

089 (a+0b)(b+c)(c+a)
0910

093 ©

095 ®

097 ®

099 ®

101 @

103 ®

105 @

107 @

109 @

111 9/3

L J

LA L
=2 057 ~076%

002 3:

004 1+/2i

006 x=—3 L= 2=3
008 x=—/3i = x=/3;
010 —/2 == /2

012 —2i &= 2

014 — 17 == 170



P15 Cc, Oy A X
017 7, o, 2
019 z=7

021 z=3,y=3
023 r=4,y=—4
025 z=1,y=-3
027 z=4,y=1
029 3+5¢

031 —:

0335

035 3+/7

037 7+3i

039 5+3¢

041 2+8¢

043 —2:—10
045 2

047 —5—14/

5—1
049

051 —¢
053 10+4¢
055 17+6i

057 17+20¢

059 4—2;
061 8

063 20

065 —1
067 1
069 —:
071 -1
073 —2
075 2
077 —2
079 —1
081:
083 —:
085 —/6
087 {15
089 2
091 —2/6—/3i
092 ®
094 ®
096 5
098 ®
100 ©
102 @
104 ®
106 ©

108 ©
110 21

016 7, L, 2 0, X%
018 z=8

020 =0, y=3
022 x=2, y=2
024 x=—5,y=3
026 =3, y=2
028 1—6i

030 —2i—1

032 3:
034 —8

036 —4+/2i
038 —8—3:
040 —11+5¢
042 3i+1
044 2:
046 84261
048 —2i+6

050 :

052

054 4
056 11+2;

25—8¢
058 2

060 4+2¢
062 4

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
:
|
|
|
:
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
i
—344¢ |
5 |
|

|

|

|

:

|

|

|

|

|

|

4 ‘
064 3+41 i
|

|

|

|

:

|

|

|

|

|

|

|

:

|

|

|

|

|

|

|

|

|

|
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|
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|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|
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5
066 —i
068 ¢
070 1
072 2
074 :—1
076 32:

078 —64
080 —1

082 —1

084 1
086 —4

088 —/3i
090 2:

0933
095 x=—3,y=8
097 @
099 7
101 O
103 10
105 @
107 3

—3—3
109 ——
Mo

1120
114 @
116 ®
180
120
122
124 ®
126 ®
128
130 ©
1323
134 @
136 —4+12;
138 @
140 ©
142 ©
144 ©
146 ®
148 @
150 @
152 @
154 ©
156 @
158 @
160 —a—b—c—d
162 @
163@
165 @
167 @
169 3
171 @
173 @

L os EEVER

001 z=—1 E=2=3

003 2=+ = 2=3

005 z=6
007 x:% Eep=—1

009 z=—2E/7L
4

011 2= E=2=—3

013 2= —2502
3

015 =3

017 Mz g = &2
019 &2

021 Mz ttg F si2
023 3

113®
115 @
117 34
19 @
121 10
123 ®
125 ©
127 1+/5i
129 ®
131®

133@

135 ®
137 ®
139 @
141 @
1430
1450
147 ©
149 @
151 —2
153 O
155 —4—2;
157 @
159 @
161 @

164 O
166 @
168 2—3:
170 —2
172 @
174 74

www

== 079~094%

012 z=3+2/2

014 —6

0165
018 Mz CI2 =
020 M2 2 5 A
022 52

024 —20 E= 20



025 £<4
027 k=4
029 —3
031 —6

033 4

035 —2

037 4

039 a=—6, b=1
041 a=1,b=—4
043 (z4+1—/5)(z+1+/5)
045 2*—8x+12=0
047 2 —8x+13=0
049 —2

051 a=6, b=10
052 ®

054 ©

056 @

058 @

060 @

062 ®

064 5

066 —2<k<1
068 ©

070 10

072 @

074 2=
076 112
078 ®

080 @

082 ®

084 2

086 ®

088 ®
090 @
092 2
094 ®
096 ®
098 —60
1001
102 @

104
106 @
108 ®
1103
1M1 k<=2 = —2<k<—
13@
1156
17 @
19 @
1210

234 oty Hi Math £3H(Ah

026 k>4
028 2
030 10

2
032 —%

034 5

036 52

038 52

040 a=4, b=1

042 (z—1—/2)(z—1+/2)
044 (x—2i) (z+2i)
046 £*+x—12=0

048 °—6x+13=0

050 a=—14, b=1

053 @

055 x=—2 E=x=2
057 3<x<5

059 @
06110
063>
065 ®
067 15
069 @
071 2
073 @
075 @
077 18
079 @
081 63
083 @
085 @
087 ¢ =
089 2
091 @
093 @
095 @
097 @
099 @
1012
103 6

105 ®

107 @
109 @

mr
(@2}

1120

1140

116 —2 £=6

118 42°—12x+5=0
120 ©

122 1<a<4

001 c, =
003 A1, 3, 4Af2H
005 A1, 3AEH

006 Z3E0| 25+ (0, 2), 50 WA z=0

007 Z/E0] 24+ (3, 0), 50| WHA 1 2=3

008 BAEO| A5 : (—5,0), 50 WA z=—5

009 Z3E0| 2 (—1, —4), B0 WHA : =—1

010 BAVEO! FHE : (2, —5), 50 WAl z=2

011 BREO| 35 : (4, 2), 50 WHA : r=4

012 Z3H0| 247« (1, —2), 5| YEA 1z=1

013 BAVEO! SE (1, 3), 50 WA z=—1

014 BREO| 35 : (2, 8), 50 WA : r=2

015 BAVEO| HE 1 (—3, —15), 50| WHA 1 z=—3

016 Txmel mm : (—2, —41), B0l way 2=

017 Bamel a7 (1, ), B0 was 2=1

018 W 019 ’

\ / ;
\ 2/
(0] x {) \ x

|
/
I

020 | , 021 ’

-
O ™ =

=

022 a>0,6>0,¢>0
024 a<0,b<0,¢>0
026 y=x"—10x+27
028 y=42*+8x

030 y=—22"+2x+12
032 y=x"—3x+2
034 y=2"+6x+7

036 flx)=—x—1
037 y
1
—2~1|0 x
039 y
3
- . N
040 ©
042 @

dgjm

002 A1, 2, 3AHE

el
004 A2, 3, 4AHEH

=22 097~110%

w

|
Il
—

[
[
/
|

023 a>0,5<0, c<0
025 a<0,5>0, c<0
027 y=—x"—6x—11
029 y=6x"—12x+4
031 y=—2"+x+2
033 y=2x"—2—5
035 flx)=z+1

038 v

2

O| .~ xz
041 @
0433



044 @

046 1, =

048 ®

050 6

052 ®

054 y=—2"+16x—62
056 3

058 @®

060 ®

062 ©®

064 @

066 —4

068 ©®

070 ®

072 ©

074 A1, 3A2H
076 &> —3
078 0<k<5
080 ®

082 ©

084 33

086 y=2x"+2x—12
088 ©

090 ®

092 ©

0011
003 0
005 2
007 k<1

009 &

011 k>4

013 £<3

015 (—2,0), (1,0)
017 —18

01912

021 —3,4

023 a=—5,b=4
025 a=7, b=—10
027 0

1
029 ~>—1
031 k>—6
1
033 4
035 <2
037 k<—10

045 @
047 @
049 10
051 @
053 @
055 ®
057 ®
059 ®
061 —1
063 @
065 @
067 @
069 —2
071 ®
073 HM2A2H
0755
077 ©
079 @
081 @
083 ©
085 ®
087 ©®
089 ®
091 16
093 ®

% v
ww

== 113~128%

0203,0,4,0

022 a=—1,b=—2
024 a=1,b=6
026 2

028 1

7

030 £<+
15
032>

29

034 —2

1
036 k>—4
038 (0, —1), (2,3)

001 x=1 E= =2 = x=3
003 z=—3 A&

005 x=2 L= x=2+/2;

007 x=—3 E= =0 £= =4

009 z=—1 = x=1 E= x=2

040 (1, 6)

o
=
N
i
jual
NN
=
™
b
T
al

oy
gy
£ -
iul

R
. b
Nl
E\I
[
[N}
bir
N
I
—

ﬂ .
i B

5 E
N T

G
£
A s g ®
brope L1
gy
. ‘ >
b
—

o
P
g0
o

060 @
062 2/10
064 —1
0661
068 m=<0
070 ®
0720
074 @
076 ®
078 @
080 @
082 @
084 —18
086 ©

088 —-

090 ®
092 ®
094 @
096 ®
098 7
1003
102 —80
104 35m
106 25
108 162m*
1100
1M12®
114 ©
116 ©
118 @

120 ®
1222

%

=22 131~146%

002 z=—1 (&) L= z=4

004 x=—1 E= =1 E= x=4
006 x=2 == z=—1+/3;

008 x=—9 Emzx=—1 E=z=1

010 x=—2 = =1 EE= 2=3

w2 met sl 235



011 z=2 E=x=1%{

013 x=1 F= xz%m

012 x2=—2 E=r=1£/2

014 a=—3, x=1£/2

015 =2, z= ﬁﬁ 016 a=—3 z=1+/3
017 3 018 4

019 —2 020 1

021 —2 022 1—/2

023 1—: 024 2—/3,1

025 2+i, 2 026 ' —4x'+2+6=0
027 £*+2°—14x—24=0 028 £’'—52°+8x—6=0
029 1 0300

031 —1 032 —1

033 -1 0340

0351 036 0

0370 0381

0391 040 0

041 —1 0420

043 xr=—2 E= 2=3 (ED) = r=5

044 x=—2 (&) £= 2=5

045 x=—3 E=x=—2 E= =2 E=x=3

+
04b z=—4 E= g=—1 E= o= 1—2 3t
047 x=—3 E= x=0 £= x=1 = =6
08 x=—i = =i EEx=—1 E=x=1

049 x=—2] E=x=2{ E=x=—2 = xr=2
050 £=0 = =2 T=x=—14+/3;

051 z=—2 E= z=1 (tI&D)

052 z=—3 L= r=—1 E= =2 (3D

053 r=2 (B2 £ = 2030

054 x=1 = x=2 F=x=—1 FE x=1

055 xr=—1 T= x=2 = r=14+/2]

056 @ 057 ®
058 @ 059 —8
060 © 061 —6
062 k>1 063 £<0
064 @ 065 7
066 © 067 17
068 @ 069 8
0701 071 17
0723 073 ®
074 —4+i 075 @
076 @ 077 @
078 ® 079 @
080 £’— 72"+ 14x—8=0 081 @
082 ’+3x°+x+1=0 083 @
084 © 085 ©
086 0 087 ®
088 @ 089 ®
090 @ 091 @
092 —1 093 —1
094 o 095 ®

236 ok Hi Math 4-3K4)

096 @ 097 —1
098 © 099 -3
100 ® 101 °, -
102 8 103 @
104 @ 105 @
106 ® 107 @
108 © 109 @
110 (1+/65) cm 1M11 £=3
1124 £=2+2/5 113 10
114 @ 115 —17
116 @ 117 @
118 @ 119 0@
120 @ 1210
122 @ 123 @
124 k<— 1250
e
252149~158%
001 x=1,y=—2 002 x=6,y=1
003 r=2,y=—4 004 z=1,y=4
005 x=3,y=1 006 x=—6,y=—4
_ _ rx=—2 _— x=1
007 z=2,y=1 008 {_ T = [
r=—3 L [x2=1 o o
009 {7Z Vs [T 010z=24=1
o o r==9 L [2=5
011 z=1,y=—1 012 (77 me [T
x=—1 o [2=1 r=—3 ro [ =43
013 {y:—l - {yZI - {y:ﬁ - {y*—ﬁ
x 1 x=1 xz—% ‘x:%
014 ("7 w= [T as ) EEI ;
y=*7 y=7
r=—4 [C= r=4 [C x:_‘/l_o [C= x*~/1_0
x=—24/§ _— xIZﬁ . xr=—3 _— x=3
016 {y:ﬁ - {y:—ﬁ - {y:—l = [y:1
I:—Zﬁ e IZZE e r=-3 e z=3
017 {y—fﬁ - {y:/g - {yzfl - {y=1
r==2 [C= =2 C— r=-1 [ x=1
018 {y:—4 = {y - {y:—l - {y:1
=72 gl [X2T2 0 r=—2 L [2={2
019 {y:—Z = {y 2 T {y:ﬁ = {y:—ﬁ
r=- ﬁ [ IZZE e r=—4 [ x=4
020 {y:fZﬁ o= {yZZE o= {y=72 {y:2
r=—1 = r=1 = r==2 = r=2
021 {y—l - {y——l = {y:—l - {y:1
P
r=—3 _ [x=2 = 5 L [x=1
022 {70 we {70, e e
- 5
023 © 024 2
025 © 026 @



027 ® 028 —3 l z—1
0296 030 36 -0z [ BT 025 | 2 T
0312 032 1 i 3x+1<5(x+1)
033 12 034 © i 026 —1<x<1 027 %<x£8
2=—1__ [z=5 2=2 _ (z=3 | 028 —4<z<6 029 sh= eict,
035 {y:5 £= {y:_l 036 {yzg E= {Fz | 030 8li= gict 031 z=2
037 ® 038 © i 032 z=8 033 sil= glrt,
039 ® 040 ® i 034 x+3<24 035 r>2x—5
041 @ 042 8m | 036 4000<400x <6000 0378 E=9
043 8 04l 25 i 0383 4 5F=456 039 —2<x<2
045 38 ©= 83 046 @ i 040 x<—5 £ 2>5 041 <0 == 226
047 14 048 —2 i 042 —3<x<4 043 —4<zr<—1EF=1<x<4
049 5 0503 | 044 ® 045 @
051 @ 052 ® . 0460 047 ©
053 @ 054 @ | 0480 049 ©
055 © . 050© 051 ®
056 @ 057 @ i 052 ©® 053 @
058 @ 059 6 i 054 @ 055 @
060 ® 0615 i 056 @ 057 2
062 aéz 063 6cm, 8cm, 10cm } 058 2 059 ©
3 o | 060® 061 ®
064 5km 065 @ | 0620 063 @
066 @ 067 @ | 064 —2<z<2 065 @
| 066 @ 067 ©
X1 | 068 (—1,5), (0,3) 069 ®
N v | 070 @ 071 @
3 — =22161~178%2 | 072 @ 073 @
001 z>2 002 z<2 % 0741 075 —10
003 2= 1 004 2<—5  gre iz 0779
005 25 006 222 | 078 —2<a<-1 079 @
| 080 z=-3 081 ®
007 226 008 < —2- | 0829 083 ®
009 z>1 010 z<6 i 084 © 085 @
011 (i) a>0 1w, x>2 1 086 ® 087 3
(i) a=02 1, 347} 2UCh | 088© 089 9, 10, 11 £= 10, 11, 12
(i) a< 0 1), 2<2 ' 090@ 091 83 = 97 = 10¥
o 3 L 092® 093 73 = 8% E 93y
012 () a>22 o) 2> ——2= 0% 0o
(i) a=2% 0f, 3= BE A | 096 097 16
(i) @ <28 1f, 2< — = | 098 @ 099 ®
013 (1) a>1% 1, 2> —4=1 i 100® 1010
= a—1 I 1026 103 &> —2
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